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LISTENING COMPREHENTION TEST

TEXT1

Listen to the text and write NO MORE THAN THREE WORDS AND/OR
A NUMBER for each answer.

What three kinds of people are listening to the talk?
1.
2.
3.
What will you need to do to visit the Fieldhouse Library?
4,

What is necessary for gaining access to the library?

5.
What are the two collections which have not yet been fully moved in?

6.

7.
What is currently being built?
8.

How many computer places have been installed?

9.

What else can you get from the librarians if you ask?

10.
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LISTENING COMPREHENTION TEST

TEXT 2

Choose the correct letter A, B, or C.

1. How long would terms be under the
six-term system?

2. What would happen to the summer
holiday?

3. How much was the average learning
loss in the summer?

4. In which subject was learning loss
greatest among disadvantaged children?

5. According to Marchmont's research,
in the six-term system pupils performed

A six weeks

B seven weeks

C thirteen weeks

A It would disappear.

B It would be shortened.

C It would be lengthened.

A two weeks

B three weeks

C seven weeks

A maths

B reading

C writing

A better than under the existing system.
B worse than under the existing system.
C the same as under the existing system.

Complete the summary below. Write NO MORE THAN TWO WORDS for each

ansSwer.

The school terms that we use originated when many people worked in 6
Also, because of the heat it was difficult to teach children in

July and August before the invention of 7

approach can be provided by the 8

A different
An important factor

in the success of these is the small 9

Also, the element of

10

Is usually present, which contributes greatly.
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